Topic: TPO 43 writing integrated task
The reading asserts that the fossils that remained from Agnostids do not provide proper information for paleontologists to distinguish what they ate and how they behaved, and there are three different concepts which raised about Agnostids living form. The lecture however finds the idea dubious and cast doubt on the reasons proposed by the reading passage.
The author argues that these creatures might have been free-swimming predators that hunted smaller animals. Conversely, the lecturer brings up the idea that the other type of arthropods had large-developed eyes that helped them to trace the hunts, but this type has poorly developed eyes that are not proper for hunting. Therefore, there should be another organ that helps this creature to hunt, which there was no evidence in fossils.
Furthermore, the reading passage holds the view that they may have inhabited the seafloor. On the contrary, the professor underlines the fact that the seafloor predators do not have the ability to move fast and far along the floor, and they are localized creatures; on the other hand, Agnostids are very fast and they move from one place to another place for hunting.
Finally, the reading asserts that there is a possibility that they were parasites. In contrast, the speaker dismisses this issue due to the fact that parasites’ population are not large because the large number of these creatures can kill the host organisms that they live on, but Agnostids population is large enough because there are a wide range of evidence in reported fossils. 
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